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Answer four questions from two genres only. These questions should be taken from the two genres you
have studied.

Genre: Epic

Question 1. Homer Odyssey 9.37-57

(a)
(b)
(©)

(d)

2213-2952

eLO’ Aye ToL Kol VOOTOV EUOV MOAVKNOE  €vioTw,
Ov pot Zevg edpénkev amo TponOev wovtL
TAWOev pe pépwv avepog Kikdveool méAaooey,

40 Toudow: €évOa &' éyw mMOALY €émpabov, wAeoa O avTovg:
€K TTOALOG O™ AAOXOLG KAl KT HATA TIOAAX AaBOvTeg
daooaped’, wg un tic pot atepBopevogs Kiot long.
&vO M toL pev Eyw dlepw modt pevyEpey NUEAS
Nvayea, Tol d¢ péya vimoL ovk émibovro.

45 &vOa d& MOAAOV pev péBv miveto, MoAAx d¢ unAa
éopalov mapa Otva kal el lrodag EAtkag Boug:
topoa O ap otxopevol Kikoveg Kikoveoot yeywvevy,
ol opLv yeltoveg Noav, Apa TAEOVES Kal aelovg,
NTELQOV VALOVTEG, ETUOTAMEVOL HEV AP MWV

50  avdpaot paovaoOat kat 001 xor meCov Eova.
NABov émeld’ doa PUAAa kat avOea ylyvetatl W),
néptot toTe dM ot kakt) Alog aloa Mot
MUV atvopodpolowy, tv aAyea moAAx taBotpev.
OTNOAUEVOL D EUAXOVTO HAXNV TtaQa Vijuol Bomot,

55 PBdaAAov O’ aAAn)Aovg xaAkrpeow eyxeinouy.

Odpoat LEV WG NV Kal d€EeTO LeQOV TJUAQ,
TOPoa O dAeEdpevoL pévopev MAEOVAG TeQ E0VTAG.

Give possible reasons for the raid by Odysseus’s party against the Cicones.

Translate £k OALOG... long (lines 41-42).

Give two major reasons from lines 45—50 that could explain the Cicones’ victory.

Describe in detail the simile in line 51.

[2 marks]

[3 marks]

[2 marks]

[3 marks]
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Genre: Epic
Question 2. Homer Odyssey 9.106-129

KukAonwv 0’ &g yailav veodaxAwv abeplotwyv
kopeDd’, ol o BeototL memolBdTeg AbavdToloy
oUTe PuTEVLOLOLY XEQOLV PUTOV OVT AQROWOLY,
GAAX T& V' AOTIAQTA KAl AV)oTa dvTa pvovTal,
110 mool kal kEOat Nd” aumeAol, al te pégovay
olvov £oLotaduAov, kat oprv Alog Oupog aéel.
oo O oUT  dryopal BovAndogot oUte OeuoTeg,
AAA” ol v' OPnAwv 0péwv vallovot k&onva
&v oméootl YAaduolot, Oeputotevel 0¢ Ekaotog
115 maidwvnd dAoxwv, 00d AAANAWV dAEyovoy.
VNoog émelta Adxelx maQek AHEVOS TETAVLOTAL,
vaing KukAwnwv ovte oxedov o0t amotnAov,
VANeOoo " €V O’ alyeg dmelpéolat Yeyaaowy
AyoLaL oV HEV YO TATOS AVOQWTIWV ATTEQUKEL,
120 0Vd¢ piv elooLyvevoL kuvryétal ol te ka® VANV
AAyea TAOXOLOLV KOQUPAS OQEWV €PETIOVTEG.
oUT QA MOUVNOLV KATATOXETAL OVT AQOTOLOLY,
AAA’ 1] Y AOTIAQTOG Katl AvrjQ0Tog THaTa avTa
AvOpWV X1Moevel, Booket ¢ Te unddag atyac.
125 oV yap KvkAwmeoot véeg maoa ATOTIAQT) 0L,
0VO’ AVOQEG VWV £VL TEKTOVEG, Ol K€ KAHOLEV
vnag éVooéApovg, al kev teAéolev €kaota
aote’ €M avOoWTWV kveLHEVAL, Ol Te TTOAAX
avopeg £’ AAANAOUG vuoitv tepdwaot BdAacoav:

(a) Scan lines KvkAwmnwv... aBavatoiow (106-107). [2 marks]

(b)  Give two reasons from lines 116—124 for the abundance of wildlife on the island
facing the Cyclopes’s land. [2 marks]

(c) Describe how the literary style and the structure of the extract help us to
understand the society and the way of life of the Cyclopes. Analyse the passage,
supporting your argument with precise details from the text. [8 marks]

2213-2952 Turn over
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Genre: Historiography

Question 3. Herodotus 7.34-35

10

(a)

(b)

(©)

(d)

2213-2952

€ TaUTNV WV TNV aKTV €§ ABOdOL OQUWUEVOL £€YeDVEOLV TOLOL TTOOOEKELTO, TNV EV
AgvkoAtvov Polvikeg, TNV O étéonv Vv BuPAlvnV AlyvTtTion €0t 0¢ ETtTor OTAdIOL €€
ABVdoV ¢ TV anavtiov. Kol d1) eCeVYIEVOL TOV TOQOL ETLYEVOUEVOS XELUWY HEYAS
OLVEKOPE Te EkElVa TIAVTA Kal OlEAvoe. wg O émvbeto EépEng, detvar molevUEVOC
tov ‘EAANomtovtov ékéAevoe tomkooiag émucéofal HAoTLyL MANYAS KAl KATEIVAL €
0 MéAayog medéwv Cevyog. 1O1 & NKOLOA WG KAl OTLYEAS ARA TOUTOLOL ATETIE e
otifovtag tov ‘EAANiomovtov. évetéAdeto de wv pamiCovtac Aéyewv BaoPfaod te Kal
ATAcOaA “@ TuKEOV VdwE, deoTdTNG ToL dikNV Emtifel tvde, OtL pv 1)diknoag
0VLOEV TEOG €kelvou Adkov abov. kal Pacidevg pev E€pEng dwPrjoetat og, NV Te
oV ye BoVAT Nv Tte U1 oot de kata dikNV dpa ovdelc avOpwTwy BveL we €ovTL Kal
OoAep kat aApLEE ToTap@.” TV Te N OdAacoav évetéAAeTo TOUTOLOL CNHLOVY Kal
TV €MeoTeTWV TN CeVEL TOL ‘EAANOTIOVTOL dTtotapely tag kePpaAdc.

wg O emvBeto ... ataocBaAa (lines 4-8). Give the Greek words, with English
translation, that may show Herodotus’s criticism of Xerxes’s immoderate
behaviour. [2 marks]
Describe the punishments inflicted by Xerxes on the Hellespont. [3 marks]
Why are the words ¢ kat otryéac, etc (line 6) introduced by 1101 d¢ fjkovoa?
Give possible explanations. [2 marks]
Translate @ KOV ... AApLE@ ToTap (lines 8—11). [3 marks]
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Genre: Historiography

Question 4. Herodotus 7.104

10

15

(a)

(b)

(©)

2213-2952

TEOG TALTA ANAENTOG Aéyel” @ BaoiAe, apxnOevnmotauny 0tLdAn0Oein xoewpevog
oL PlAa ToL €Qéw" oL O emel VA yKAoag Aéyetv twv Adywv tovg dAnOeotatovg, EAeyov
TX KATIKOVTA LTAQTUTNOL KALTOL WG YW TUYXAV® T VOV TADE €0TOQYWS €KELVOUG,
avTOC HAALOTA E€emioTeat, Ol He TNV TE KAl YEQEXR ATIEAOUEVOL TATOWIX ATIOALV TE
KAl puYAda TTEMOMKAOL, TATTQ 0& 00G VTTOdEEAILEVOS BLOV TE oL KAL OIKOV £DWKE. OVK
WV OlKOG €0TL AVOQX TOV owdova evvoiny patvopévny diwbéecOat, aAAa otégyetv
HAALOTA. €Y@ D€ 0UTE DK AVOQATLUTILOXOUALOLOG TE elvat HaxeoOaLoVTe dLOLOL, EKWV
Te elval 0VO AV HOVVOUAXEOLUL €L D& avarykaln eln 1) HEYAg TG O EMOTEUVWV YWYV,
Haxotlpnv av mavtwv foota évi tTovtwv Twv avdpwv ot ‘EAANvwv ékaotog ¢pnot
TOLWV AELOG elval. g 0¢ Kkal AakedalHoviol Kata Hev Eva LoXOHEVOL OLDAU@YV ELoL
KaKloveg AvOQwV, aAéeg O& AQLOTOL AVOQWV ATAVTIWV. €éAeV0EQOL YOQ €0VTEG OV
miavta éAeV0eQol elot EmeoTLYAQ OPLOeTTIOTNG VOUOG, TOV DTTOdE L ivovaL TTOAAQ Tt
HAAAOV 1) OL 0OL O€. TTOLEVOL YWV T AV EKELVOS VYT AVAYEL DE TWLTO ALEL, OVK €WV
devyerv 00dev MANOOG AVOQWTIWV €K HAXNG, AAAX HEVOVTAG €V TN TAEL ETUKQATEELY
N anoAAvcOat oot d¢ el patvopal tavta Aéywv PpAvneéety, TAAAa oryav 0éAw To
AoLtov vov e avaykaoOelg €éAea. yévorto pévTol kata voov tol, PactAev.”

Explain the sarcasm contained in the words ¢ éyw TUYXAVW T VOV TAdE

£€0ToQYWS Eketvoug (line 3). [2 marks]

What does Demaratus mean by saying éAe00epot yaQ €0vteg oV mavTa

EAev0¢epot elot (lines 11-12)? Providing just a translation will not be valid. [2 marks]

Analyse Demeratus’s answer to Xerxes and illustrate, giving precise details from

the text, its literary features. [8 marks]
Turn over
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Genre: Tragedy

Question 5. Euripides Hippolytus 304-329

(Toodog)
AAA" loOL pévtolr — mEOg Tdd avBadeotépa
305 ytyvov BaAdoong — el Oavr), Tpodovoa covg
TIAOAG, TATEWWV UT peBéfovtag OOV,
Ha TV avaooav inmiav Apalova,
1) ool TékvoloL deamdtnV Eyelvato
voOov ¢poovovvta yvriot', oloba viv kaAwg,
310 TnméAvtov...
(DPaidonr)
olpot
(Toodog)
Ovyydavelr 0é0ev TO0E;
(DPaidon)
ATIWAETAG UE, pala, Kal oe o Oewv
TOVO AVOQOS OIS AlooOpAL OLyAV TEQL.
(Toodog)
00ac; GEOVELS HEV €V, poovovoa O oL BEAeLg
TAAC T OvnoaL Kal oov éxkowoal Blov.

(DPaidon)

315 PA@ tékv’ AAAN O’ év TUXN) Xepnalopal.
(Toodog)
AYVAaG Hév, @ Tal, Xelpag alpatog pooeis;
(DPaidon)
XELQEG HEV aryval, Gorv O éxel plaoud TL.
(Toodog)
MV €€ EMAKTOL TUOVNG €XO00wV TIvog;
(DPaidon)
dAog 1’ ATOAALC’ OV) €kODOAY OVX EKWV.
(Toodog)

320 Onoedc TV NUAQTNKEV €6 O ApaQTiay;
(DPaidon)
U dowo’ Eywy’ éxetvov 0dpOenV Kakwe.
(Toodog)
Tl yaQ T detvov tov0’ 6 0 é€aipel Oavety;
(DPaidon)

£a U APAQTELV' OV YOQ €C O AXHAQTAVW®.

2213-2952
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(b)

(©)

(d)
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(Teodog)

oL dN0O’ ékovod V', €v d& ool AeAeiopat.
(DPaidoa)

325  tidoac; BLaln xepoc EEaQTwHEVN;

(Teodog)

KAl 0wV Ye YOVATwWYV, KoL pedrjoopat mote.
(DPaidoa)

KAK @ TdAavad 0oL Tdd’, el TeVOT), KAKA.
(Teodog)

Hellov yQQ 1) 0OV UT) TUXELV TL HOL KAKOV;
(Paidoa)

OAT). TO pévToL ey’ €poL TIUTV (EQeL.

Explain the meaning of the words voOov ¢oovovvta yviiol (line 309).
Who is the nurse referring to? Why does she use these words?

Translate 60ag ... xeqpaCopat (lines 313-315).

What is the technical name for the action described in lines 325-326? What does
the action involve in order to be valid?

What does Phaedra mean by saying that “the affair brings honour to me”
(TO pévtoL paypt’ epot Tiunv Gépet, line 329)?

[3 marks]

[3 marks]

[2 marks]

[2 marks]

Turn over
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Genre: Tragedy

Question 6. Euripides Hippolytus 905-931

(a)

(b)

(©

2213-2952

(ImtmtoAvTOCG)

905 Ea, Tl xonua; onyv dapad’ 0pw, TtateQ,
VeKQOV' peyiotov Oavpatog T6d” a&lov:

NV agtiwg éAetrtov, 1) pdog t0de
0UTtW XOOVOG MAAKLOG ElOEDEQKETO.
Tl xonHa TAoX ey, T TEOTW dLOAALTAL

910 matep, mvOéoOal PovAouat o€bev Ttaa.
OLYAS OGO 0VdEV €QYOV €V KAKOIG
1 yao moBovoa mavta kadia kAVewv
KAV TOLS KAKOLOL AlXYVOG 000 AAloKETAL.
oV UNV PlAovg ve, katt paAAov 1 piAovg,

915 kQUMTEWY dlKALOV OAG, TtATEQ, dDLOTIPAELAC.
(®noevg)

@ TIOAA” AUAQTAVOVTES AVOQWTIOL HATNY,
T On téxvag név povolag dddokete

KAl mavTa unxavaoe kxEeVOLOKETE,

£v 0  ovk émilotac’ ovd’ eOnodoaoOé nw,

920 ¢dovelv dWATKELY OlOLV OUK EVEOTL VOUG;
(Imtmté6AvTOCG)
deLVOV 0OPLOTNV elTtag, O0TIS €0 PQOVELV
TOUG HUT) POVOLVTAC dLVATOC 0T AVAYKAOAL.
AAA’ 0V YO €V 0€0VTL AETTOVQYELS, TTATEQ,
d&doKA Ur) 0oL YAWOO UTtEQRAAAT KAKOLG.
(®noevg)

925  ¢ev, xonVv Peotolot Twv GiAwv TekuneLov
oadég tLkeloBal kat ddyvwoy poevav,
dotic T aAnO1Nc oty O¢ Te ur) GiAog,
dLo0dG te pwvag mavTag AvOpwmovg ExeLy,
™V pev dikalav, v O Onwg €Tvyxavey,

930 g 1) poovovoa tadk’ eENAéyxeTo
TIOOGC TN dKAlAG, KOVK AV NmatwpeOa.

Scan éx ... a&ov (lines 905-906). [2 marks]

Analyse the dialogue between Hippolytus and Theseus and explain, giving
precise details from the text, how Euripides’s style creates such a dramatic effect. [8 marks]

What do we learn about Theseus’s opinion of Hippolytus from lines 928-931
(doodcg ... nratwpueda)? [2 marks]
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Genre: Comedy
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Question 7. Aristophanes Clouds 891-919

2213-2952

895

900

905

(Adkog AdY0Q)
10" 6ot xonlets. MoAL yaQ HAAAGY O
€V TOIG TTOAAOLOL AEYWV ATIOA.
(Aikarog Aoy0g)
ATIOAELS OV; TG @V,
(Ad1kog AdY0Q)
Adyoc.

M13/2/GREEK/HP2/ENG/TZ0/XX

(Atkarog A6Y0g)
NTTWV Y @v.

(Adkog AdY0Q)
AAAG 0€ VKW TOV €U0V KQEITTW
dpdaokovt elvat

(Aikatog A6yog)
T 00pOV ToLwV;
(Adkog AdY0Q)
YVOUAS KALVAG EEEVOLOKWV.
(Aikarog A6y0g)

TaALTA YaQ avOel dx tovtovot
TOUG AVONTOUG.

(Ad1kog AdY0Q)
oUK, AAAX codovg.
(Atkarog A6y0¢)
ATIOAQ O€ KAKQWG.
(Ad1kog AdYoQ)
eLTté, Tl TTOLWV;
(Aikarog A6y0g)
T dlkatax Aéywv.
(Adkog AdY0g)

AN dvateépw v avt avtidéywv:
0VOE YAQ elvatl vy Gt diknv.
(Aikarog A6y0g)

ovK elvat Pr|g;

(Adkog AdYoQ)
dépe YaQ, mov 'oTLy;
(Aikarog A6y0g)
TaQx Tolot Beolc.
(Adkog AdY0Q)

Ttws dnta Oikng ovong O Zevg
OVK ATIOAWAEV, TOV ATEQ AUTOV
onoag;
(Aikarog A6yo0c)
aipot, touti kKai on
XWOEL TO KAKOV* dOTE oL AgkAvnv.



(a)

(b)

(©)

(d)

2213-2952

910

915

11—
(Adikog AdY0Q)
TUPOYEQWV el KAVAQHOOTOC.
(Atkarog A6y0g)
KATATMOYWV €l KAVAIoXUVTOG.
(Adkog AdYog)
00da 1’ eloniac.
(Atkarog Aoyog)
Kol BwpoAodxog.
(Adkog AdY0Q)
kplveoL otepavola.
(Atkatog Adyog)
Kal tatoaAolac.
(Adkog AdYoQ)
XOLOQ TATTWYV [’ OV YLYVWOKELGS.
(Atkarog A6yoc)
oL dNta mEO TOL Y, AAAX HOAVBOw.
(Adkog AdYoQ)
VOV O€ YE KOOUOG TOUT €0TiV EUoL.
(Atkarog A6yoc)

Ooaovg et moAAov.
(Ad1kog AOY00)

oL O¢ Y’ apxalog.

(Atkarog A6y0g)

dwx o¢ d¢ Pottav

oVLOelS E0€AeL TV pepakiwv:
kal yvwoOnoet mot’ AOnvaiolg
ola dWATKELS TOVG AVOT)TOVG.

M13/2/GREEK/HP2/ENG/TZ0/XX

Ilustrate the use of the term coddg in this extract. What do the Just and

Unjust Argument mean with it? [2 marks]

Explain the argument used by the Unjust Argument against the existence

of justice. [3 marks]

Outline the reciprocal insults of the Just and Unjust Argument, giving one

example (both in Greek and in English) for each of them. [2 marks]

Translate dwx o¢ ... Tovg dvorjtoug (lines 916-919). [3 marks]
Turn over
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Genre: Comedy

Question 8. Aristophanes Clouds 275-297

(a)

(b)

(©)

2213-2952

(X0Q0g)
275  aévaolt NedéAat,
apOwpev pavepat dDQoTeEAV GUOLV ELAYNTOV,
ntatog am’ Qkeavov Paguoay£og
VPNAQV 0péwV KoQUDAGS ETTL
280  devdookodpovg, tva
Aepavels okoTag APpopwpeda,
KaQTOUG T  apdopévay tepav x0ova,
Kal motapv Cabéwv keAadnuata,
KAl mTOVToV kKeAadovta PaguBopov:
285  Oppa Yoo alB€Q0g dKApATOV OeAaryeltal
HAQHAQEXLOY AUYAILC.
AAA" amooeloapeval vépog oupolov
aBavatag Wéag emdwpeda
290  ™AeOoKOTIW OUHATL YALAV.
(Zwkoatng)
@ peya oepval NedpéAat, pavepws NkoLoATé HOL KAAETAVTOG.
nobov Gpwvng dua xat PEoving puknoapévng Beooéntov;
(EtoeLadng)
kat oeBopal y’, @ moAvtipntol, kat BovAopat AVTaTonaQdeLty
TEOG TAG BEOVTAS OUTWS AVTAS TETOEUAIVW Kal TtedOPn oL
295 kel Oéuic €otiv, vuviy 110N, ket pr) O€pg €otl, xeoeiw.
(Zwkoatng)
oV UM okwipel, Unde MOMoeLs ATEQ OL TEUYOdALHOVES 0VTOL,
AAA” evPNper Héya YA TL Oe@V KLVELTAL OUNVOS AOAIG.

Give two words in the original Greek related to the sound of water, explaining
to whom or what they apply.

Translate the words péya yao Tt Oewv kiveltar ounvog (line 297) and
explain what they refer to.

Comment on the stylistic features of the passage with special regard to the
comic qualities of the text. Support your argument with precise details.

[2 marks]

[2 marks]

[8 marks]
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Genre: Philosophy

Question 9. Plato Apology 21e-22c¢

10

15

(a)

(b)

(©)

(d)

2213-2952

HeTa TALT 0oLV NON €dhe&ng Na, aloBavopevog pev kal AVTIOUHEVOS Kal dedlwg OTL
arnxBavouny, dpwe d¢ avaykatov €dokeL eivat TO ToL Oeov Tepl mAeloTov ToteloBat
— ITé0V 00V, OKOTIOUVTL TOV XONOMOV TLAEYEL ETTL ATAVTAS TOUG TL DOKOLVTAG eldévaL.
Kal Vi) TOV kOva, @ avdpeg ABnvaitot — del yaQ mEOg VHAS TaAANON Aéyewv — 1) unv
EYw EmMabov TL TOLOVTOV' Ol HEV HAALOTA EVOOKLHOVVTES €DOEAV HOL OALYOL OV TOV
mAelotov €vdeelc etval Cntovvtt katx TOv Oedv, aAAoL d¢ dokovvtes pavAdTeQol
ETLEKEOTEQOL Elval AVOQES TIOOS TO PEOVIHWG EXeLv. del d1) VULV TNV EUNV ALV
ETUOELEAL OTIEQ TTOVOUG TIVAG TTOVOLVTOG tva HOL Kol AVEAEYKTOC 1) HavTela YévoLto.
HETA YAQ TOVG TIOALTIKOUG )& €TTL TOUG TTOUNTAS TOUG TE TWV TOAYWILWV KAL TOVG TWV
dOvEAUBwV Kal TOUG AAAOLG, WS evTavBa €1’ aVTOPWOW KATAANPOUEVOSG EUXVTOV
apabéotegov ekelvwv Ovia. avaAauPavwy ovv aUTOV TA TIOMHATA & HoL £00KeL
HAALOTa TtEMEAYHATELOOAL AVTOLS, OUEWTWV AV aVTOLG T Aéyotev, v’ dpa Tt Kai
HavOavoluLl T’ avTV. aloxVvopal ovv VULV ElTtely, @ avdEes, TAANON Opwg
d¢ ONTEOV. WG €MMOG YAQ €lmelv OAlyov avTWV ATAVTES Ol MAQOVTEG av PBEATIOV
EAeyOV TEQL WV AVTOL €MEMOMKETAV. €YVWV OVV AL KAl TEQL TV TOMTOV €V OALYw
TOUTO, OTL OV cOPia TooleV & ToLoteV, AAAX pvoeL Tvi kal EvOovolxlovTeg (OTEQ Ol
OeopavTelc Kat ol XQNOHwdOL Kal YaQ oUTOL AEYouat eV TTOAAQ Kal KaAQ, loaoty O&
0VLOEV WV Aéyovot.

At which stage of Socrates’s trial, and before whom, is this speech uttered? [2 marks]
t0 oV O¢eov (line 2). Explain which episode this expression refers to. [2 marks]
Translate ol pév paAota ... poovipwg éxetv (lines 5-7). [3 marks]
On what grounds does Socrates criticise the poets in this extract? [3 marks]
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Genre: Philosophy

Question 10. Plato Apology 36b-37a

10

15

(a)

(b)

(©)

TIHATALD 0DV HOL O AvT)Q OavdTov. elev: €yw d¢ O1) TIVOG VULV AVTITIUNOOUAL @ AVOQES
ABnvaioy; 1) dONAov OtL ¢ &&lag; Tl ovv; Tt A&ldg eipt mabdelv 1) anoteioatl, Ot pHabwv
&v T Pl ovX Novxlav Nyov, AL’ dueAnoag wvmep ol ToAAOL, XONUATIOHOD Te Katl
OLKOVOUIAG KAL OTQAT YWV KAL dONUNYO0QLWV Kal TV AAAWV dOXWV KAl CUVWHOOTLWV
KALOTATEWV TV €V T TTOAELYLYVOUEVWYV, YT OXUEVOS EUAVTOV TQ OVTLETUEIKETTEQOV
elvaL ) ote elg Tavt’ Wvta oleobal, évtavOa pév ovk Na ot EABwV urte ULV unte
EUaLTQ E€pEAAOV pNdeEv OdpeAog eival, €mi ¢ TO Wi EKAOTOV WV EVEQYETELV TNV
peylotnv evegyeoiav, wg £yw PN, evtavda na, TV EkaoTov D@V Ttelfety un
TEOTEQOV UTTE TV EAVTOL UNOEVOG EMIpeAElT0aL IOV ExLTOL €mipeANOeln OMwe wg
BEATIOTOC KAl PQOVIUWTATOS €00LTO, UNTE TWV THG MOAEWS, OV aVTNG TNG TTOAEWS,
TV T& AAAWV 00TW KATX TOV AUTOV TOOTOV ETipeAelofaL — Tl o0V elpt a&log mabetv
TOLOVTOC WV; AyaOov T, @ avdpeg AOnvaioy el del ye kata TV d&lav T dAnOela
THacHar Kat tavTd ye ayaBov ToloVTOV OTLAV TIRETIOL EUOL. TLOUV TTQETELAVOQL TTEVTTL
eVEQYETN deoUéV AyeLV OXOAT|V ETTL 1) VHETEQR MaQakeA VO, OVK €007 OTL HAAAOV,
W avdoec AOnvailoy, mEETEL OUTWGS WG TOV TOLOVTOV AVOQa €V mEuLTAVElw oltelodal,
TOAV Y& HaAAAOV 1) el T DV (1Tt 1) ouvwEdL ) Cevyel veviknkev OAvumiaotv: 6 pev
Y DUAG TOLEL EVOAIOVAG DOKELY elval, €yw d¢ elval, Kal O eV ToodTc ovdev dettal,
Eyw O& déopal. €l OUV del HE KaTta TO dikatov g &élag TipacOat, To0ToL TIHWUAL €V
TIEULTAVEIW OLTNOEWG.

Why does Socrates, at the very beginning of the extract, propose an
alternative penalty? [2 marks]

Which justifications does Socrates give for neglecting what most men care
for in lines 3—7 (apeAnoag ... 0peAog etvar)? [2 marks]

Analyse Socrates’s speech. Consider both the structure and literary features of
his argument, giving precise details from the text. [8 marks]
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